L I8 B =4
DEIEMA / 5o EIRE

7 B G RYE R 9 Bl

EH 22110.

=R
455038 & B SR,
WeeTF RPN EEFER.
vl A
K BIARIR D BIE LA SRS HEE, A A F T
- W, e LEXZ v
« TEW 1.4305 By kETWHSEEVENERE (EH
22120.)o
EEHF 18 iE
« TE54N 1.4305 -
LA SRR , RS , HI0EHHE—
FE . MAORAE
- BR(PAG) , B, THFEN
» Thermoplast PA 6, red, dull ERER
EERSM
TR B hEd .
EZFm
- EEREL , EATIEENME
£3[r]
d3
m_—
o3
.I
s 6
. WS E/_
-
" —— RN TN
- = TR e
<1 i ] &
. E o
i i1_l $
ks iy WS
d,
picture 1 picture 2
ITHER
Y ws WEHE" & ]
d, d, ds d, Iy I, I3 Iy F, F, min max.
0 min min ~ ~
-0,06
[mm] [mm] [N] [°C] [o]
without locking, knob black — #1551, i
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4.5 12 -30 80 14 22110.0024
5 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.0026
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 25 22110.0028
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 26 22110.0030
without locking, knob red — #5 1, $
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2024
5 M 8x 0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2026
6 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.2028
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.2030
) it i
14
EE HALDER & 1E: 15.12.2023



http://halder.com/cn/22110.0024
http://halder.com/cn/22110.0026
http://halder.com/cn/22110.0028
http://halder.com/cn/22110.0030
http://halder.com/cn/22110.2024
http://halder.com/cn/22110.2026
http://halder.com/cn/22110.2028
http://halder.com/cn/22110.2030

L I8 B =4

DEEMAE / 5 BRE
R~ 'S wWENE" & i ms
dy d; d3 dy Iy I, I3 Iy Fy F, min max.
0 min min = =
-0,06
[mm] [mm] [N] [°C] [a]
with locking, knob black — 15 2, 4
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 13 22110.0034
5 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.0036
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 24 22110.0038
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.0040
with locking, knob red — 5 2, $}
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 13 22110.2034
5 M 8x 0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2036
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 24 22110.2038
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.2040
without locking, knob black — 85 1, T4
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.0044
5 M 8x 0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.0046
6 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.0048
7 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 26 22110.0050
without locking, knob red — #5 1, 74548
4 M 8x 0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2044
5 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2046
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 25 22110.2048
7 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 25 22110.2050
with locking, knob black — 1/} 2, T4
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 13 22110.0054
5 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.0056
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 24 22110.0058
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.0060
with locking, knob red — 5 2, 450
4 M 8x0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 13 22110.2054
5 M 8x 0,75 21 15 26,5 5 5 3,5 10 4,5 12 -30 80 14 22110.2056
6 M10 x 1 25 18 34,0 7 7 45 12 5,0 18 -30 80 24 22110.2058
7 M10 x 1 25 18 34,0 7 7 4,5 12 5,0 18 -30 80 25 22110.2060
Vit 2i91E

214
EEHALDER & 7E: 15.12.2023


http://halder.com/cn/22110.0034
http://halder.com/cn/22110.0036
http://halder.com/cn/22110.0038
http://halder.com/cn/22110.0040
http://halder.com/cn/22110.2034
http://halder.com/cn/22110.2036
http://halder.com/cn/22110.2038
http://halder.com/cn/22110.2040
http://halder.com/cn/22110.0044
http://halder.com/cn/22110.0046
http://halder.com/cn/22110.0048
http://halder.com/cn/22110.0050
http://halder.com/cn/22110.2044
http://halder.com/cn/22110.2046
http://halder.com/cn/22110.2048
http://halder.com/cn/22110.2050
http://halder.com/cn/22110.0054
http://halder.com/cn/22110.0056
http://halder.com/cn/22110.0058
http://halder.com/cn/22110.0060
http://halder.com/cn/22110.2054
http://halder.com/cn/22110.2056
http://halder.com/cn/22110.2058
http://halder.com/cn/22110.2060

L I8 B =4
DEIEMA / 5o EIRE

Az Peatl)

T3 9 4
EEHALDER FIEAE: 15.12.2023



L I8 B =4
DEIEMA / 5o EIRE

NN\ S\

L

For detailed compliance information please select the desired article number.

T 410 4
EEHALDER FIEAE: 15.12.2023



